. ERExE

PARTS LIST

XGH600B
XGH6O0OO0OEB



R HHLNo

1.

I I B I I Rl T e R A T T

F—Ry I ZBEHRED1)
F—Ry I RABERED2)1/2
F—Ry I RABERED2)2/2
F—RyI ZBEHRED3)
FY—Ry I ZBERED4)
F—Ry I ZBEHREDS)
IL—LE&RED)
IL—LE&RED2)
IL—LE&RED?)
IL—LE&REDS)
IL—LER(EZED5)0PT
IL—LER(ZD6)0PT
ETERED)
ETERED2)
ETREREDS)

I mERB{ZR(EZED1)(XGH600B)
I -ERZR(ED2)(XGHE00EB)

Toov-nBER(EDI)

I - ERZRE D4 (XGHE00EB)

IO -REEFREDS)
I O -REEFREDSE)
IO -REEREDT)
IO -REEFREDS)
IO -REEREDI)
12 VEBR(Z D 1)(XGHB00B)
12 B8R (F D 2)(XGHB00EB)
BREEREDI)
BREERE DY)
BREBER(ZD5)
BREER(ZD6)
BEEREDD
REEZR(ZDS)
BREERE D)
1R1EBER(ZED10)
1BREBERCED)
1R1EBER(ED12)
1REBER(ED13)

© 00O d4 O G b~ W N =

W W W W W W W WMNDNDNDNDNDNDNDNDNDN-AS =2 AL dd d
~N O G WN - O © 00N O G A WN - O © 0o a1 W N = O



RHLNo
6. TINJLBEHE®R1/2
6. TINJLBEHE®R2/2
7. {EmER
8. WY—EXEZRED) EHERS
8. WY—EXERE®D2) A7L-EH
8. H—EXBE&REDI EHE XGH600B
8. H—EXBE&REDL ERHE XGH600EB

QOFIEEI—R[ZDINVT
H&EI—FT2#1(0O000-000-000-00: 00 FFEEa—FERLTLET,

1):
2):
3):
4)
5):

28——Ef45
32—MRBET TV
30—514rJL—

:08—RX—/\—LYk

45-—F L F3IyH(TO—2



1. FY—Ry I XERED1)

75 Hma—k BB am A = g & /NFEEA i
1 0339-181-200-6 XGH3IyY3VASSY 1

2 0339-181-211-1 VEVL (W) 1

3 0339-181-221-2 OVEVL i A(3)) 1

4 V720-101-900-6 oyvy P6 1

5 0339-181-212-0 779 K IWMM6X12-10.9 1

6 3740-111-030-0 7°9vanYk A 2

7 V720-101-901-0 oy P10 2

8 3614-101-005-0 i EVETEVE 2

9 0339-181-240-0:28 T/M7 34yMN600)COMP 1

10 0339-181-231-0 770 K IWFM8X90-6.8 3

11 0339-181-233-0 759 K IWMM8X115-6.8 4

12 0664-411-012-0 750Y FyMM8) M8 7 7T
13 0339-181-234-1 7595 K WMM10X150-6.8 2

14 0339-181-235-0 759Y FykM10-4.8 2

SEHEIL, (FDONFBE2~(ZFDA)EEDL,



1. FY—Ry I XERED2)1/2

23
Al

Ema—k

B i B 5

- _ m m
S hR oD o©W®mN® M WN =

N = — = =
O © oo dOo

0339-181-251-2
V744-120-400-8
1122-280-018-0
0339-181-260-1
0339-181-303-1

0339-181-252-0
V704-140-018-0
0339-181-270-0
1122-280-013-0
0339-181-281-1

1122-280-015-0
0339-181-282-0
0339-181-283-0
0339-181-284-0
0339-181-285-0

0339-181-286-0
0339-181-287-0
0339-181-301-1
1122-280-017-0
0339-181-302-1

XGHZ2713%¥%7b
W=l

R.B.B(6004)
h9v8% ¥ —(31-21)COMP
Y Yk (18X22X10)

7yY%(18X30X2)

CH 4 I Y) 18
FIo¥ % ¥—COMP

R.B.B(6202)

8%k

R.B.B(6203)
hU5% v —(32)
h7—-(18X25X31)
h%25% % —(10X20)
h7—-(18X25X25.2)

4% v —(38)
H5—(18X25X4.3)
XGHN'9Ih089%7b
R.B.B(6302)
H5—(18X28X6.4)

TC20408

—_ e - - N = —m =

_ = N

—_ e = =



1. Fv—Ry o RBR(ZD2)2/2

f7E BRI —F BB Bk B = /N5E B (il
21 0339-181-310-2 h9U4% ¥—COMP 1
22 0339-181-303-1 Y hYh(18X22X10) 2
23 0339-181-252-0 7994(18X30X2) 1
24 V704-140-018-0 CH 4k A9Cy) 18 1
25 V704-140-020-0 CHab I ) 20 1
26 0339-181-304-0 NYIhIU A% v—(29) 1
27 0339-181-305-0 h5—(20X25X15.6) 1
28 0339-181-306-0 NYIhIU 8% v—(28) 1
29 0339-181-307-0 NYIhUa% v—(15) 1
30 0339-181-308-0 h5—(20X25X3.7) 1
31 1122-280-012-0 R.B.B(6003) 1
32 V744-117-300-7 A=l TC17307 1
33 0386-110-024-1 YA 979F % IMXG) 1
34 1122-280-015-0 R.B.B(6203) 2
35 0339-181-322-0 4% ¥ —(XGH) 1
36 V705-140-037-0 CHab (T 1) 37 2
37 0386-110-022-0 h79F¥ ¥—(XG) 2
38 0386-110-023-0 A7)U9°(HC38) 2
39 0386-110-331-0:28 7' L—%*4IL(XG) 2
40 0339-181-332-1 ay973vY K IWkM8X18 5
41 8935-056-025-0 1J4%9(20) 2
42 0339-181-333-0:28 !)4—YSP7v4 1
43 0359-110-025-0 Y93 4K L h8X25 1



1. FY—Ry I XEREDI)

75 T Tl B %k g = /NFEE i
1 0339-181-341-1 473799747 -L(XGH) 2
2 0343-110-014-0 Vo RLVYL Y EIN, 2
3 2703-101-020-0 YI9h7- 4
4 3740-111-029-0 AN HFVFTvanyr 2
5 0339-181-421-0:28 #4FN459F7—L(L) 1
6 0339-181-422-0:28 #4}F459F7—AL(R) 1
7 3517-501-002-1 D979FHANE Y 1
8 V500-163-002-0 7Y 3X20 1
9 0339-181-351-0 F1vY Y7y N (XGH) 1
10 0339-181-352-0 F1oY Y 78(XGH) 1
11 V710-140-010-0 EN"4hAD 10 2
12 0439-110-021-1 VI8 1
13 V680-200-001-0 AF-R =) 5/16 1
14 0339-181-361-0 XGHY7Mr—2A 1
15 V744-116-300~7 A= TC16307 1
16 3560-102-029-1 Finaity 1
17 0339-181-362-0 7599 K WFM8X25-6.8 4
18 0339-181-380-0 F10Y 7—LCOMP 1



1. Y —RyIXBERED4)

16
7= Hema—k 2B EE g & /NSEEA
1 0339-181-401-0 R ahT— 1
2 0339-181-402-0 FF Y—(XGH) 2
3 1122-280-016-0 R.B.B(6206) 2
4 0339-181-403-0 KLY vIMXGH/L) 1
5 0339-181-404-0 HM ¥ IMXGH/R) 1
6 0339-181-410-0 :28 #1147 (XGH)COMP 2
7 1122-280-019-0 R.B.B(6006) 2
8 V707-140-055-0 ATV (T 55 2
9 1341-735-001-0 VWNES 2
10 0339-181-405-0 ay9735% K ILkM10X25 8
11 0337-110-051-1 7 L—FnyEy 1
12 0337-110-500~1 7' L—%(62)ASSY 1
13 V704-140-014-0 CHab ¢ ) 14 1
14 0339-181-391-0 7509 K L M8X16-6.8 1
15 0339-181-430-0 :28 7'L—%7—LAMy7'COMP 1
16 V201-260-804-5 my) 7 WA M8X45 2
17 V401-160-008-0 SW 8 2



1. FVY—Ry Y RERED5)

f7E Ema—Fk @A Ik B & /NFEEA
1 0339-132-011-0:28 HMN474H1(64-32) 2
2 V211-261-002-5 IR INS) M10X25 4
3 0339-132-200-0 :28 F1vy'7—L(600)COMP 1
4 V411-200-016-0 ELWIEd 16 1
5 4175-402-004-0 7Y YhR Vb 1
6 V201-261-002-5 ) TN M10X25 2
7 V411-260-010-0 WWEYH R 10 2
8 V362-260-010-0 INAYIN RYEFYb 12 M10 2
9 0339-142-011-0:28 #H4ILA7 B4 yMXGH600) 2
10 3768-361-029-0 0-4%"v-b M1 % 2
11 0630-610-014-0 nN—kFays+yMM10) 2



2. 7L—LBERED)

FE Hma—k @A Bk B & INSEEL
1 0339-217-200-5 :08 7L—ALDI(L)COMP 1

2 3912-112-013-0 RV VAR VY (465) 2

3 3912-113-023-0 ARUY (08X 15X180) 4

4 0339-217-280-1 :28 7L—LY4(600L)COMP 1

5 V201-461-003-0 N4 IR M10X30 7 9T

6 V401-160-010-0 S.W 10 6

7 3780-121-002-0 ToYAVE N % 8

8 V304-260-010-0 sk 291 M10 2



2. 7L—LEARED2)

5 EHma—k BB E%k & & INSEE
1 0339-213-310-0:08 7L—L%%(LF)COMP 4
2 V211-360-801-6 I 4K IWMSP) M8X16 16
3 0339-210-011-1 1)57(10X36X3) 16
4 0339-217-011-0 :28 H'{Fh5—(10X20X40) 8
5 V201-261-007-0 N4 Wb M10X70 8
6 V411-260-010-0 LW 10 16



2. 7L—LEAZRE®DI)

qE Ema—k BB Bk g INSEEL
1 0339-217-300-4 :08 7L—LYI(R)ICOMP 1

2 0339-217-350-1:28 7L—ALY4(600R)COMP 1

3 V201-461-003-0 ) T WA M10X30 7 9T

4 \V401-160-010-0 Sw 10 6

5 3780-121-002-0 TUYAVY N % 8

6 V304-260-010-0 y) 5 ] 291 M10 2



2. 7L—LBEREDL)

U ia s

7B Hma—k BB Fh B g & IN5T B
1 0339-242-011-0:30 =447 L—FAY) 1

2 0339-181-391-0 739V K ILMM8X16-6.8 4

3 V362-260-008-0 INGHIN 2YEFYE 191 M8

2

-10-



2. JL—LEZRED5)0PT

75 Eegmad—k oA 1B %k g _Z /NFE B i
1 0339-243-200-0 847 L—-M¥#7)ASSY 1 OPT

2 0339-715-530-0 Z4'47°L—M#7)COMP 1

3 0339-715-540-0 Z4'47°L—-M¥7 )WCOMP 1

4 0439-612-011-0 ANBILYTUEU(16X70) 3

SHEEE, FFE2~4ZET,

_11_



2. 7L—LEZR(EDB)OPT

~

"E Hma—k BB fn £ Bk B & /N5 B
1 0339-254-200-2 N47°79(600)SET 1 OPT
2 0339-252-011-0:30 3379/ 47°(L) 2
3 0339-252-200-0 33791’ 47 (R)YCOMP 1
4 0339-254-210-1:30 vI74(L)600COMP 1
5 0339-250-011-0:30 VIT4(R) 1
6 0339-250-012-1 E"(12X892) 1
7 W580-140-402-0 AZYUTEU(W) 4X20 1
8 0339-252-210-0:30 ~N'477%(FFHRCOMP 1
9 0339-252-012-0 E"(12X910) 1
10 8935-001-064-0 H399E°VSP 1
11 4201-220-019-0 +Y+/7°(M8X20) 1
12 0339-252-220-1:30 ~N'17"79(7F)COMP 1
13 0339-254-011-0 WUINIVL ELDELVE 1
14 V201-260-802-5 T A M8X25 5
15 V300-260-008-0 Fyb M8 5

>EHE1E. FFE2~15%8,

_12_



3. ETTEARE D)

SHE6E. FSI~11ZEL,

-13-

T EHma—Fk ER R E %k g & /NFEEE i
1 0339-315-200-0 :08 4374 % (XGH600)COMP 2

2 0312-240-013-0 7°92(YN/25X28X25) 4

3 0339-315-011-0 41374%°YH(XGH600) 2

4 3768-361-029-0 A-42%Y-F A" h % 28

5 0339-315-012-0 F'ILMM10X1.25X20) 28 9T
6 0339-315-210-0 F5y40-35(150)ASSY 12

7 0339-315-220-0 : F5v40-3(150)COMP 12

8 0339-315-211-0 FvHE—59%7M118) 12

9 0560-310-012-0 A= 24
10 V600-110-620-4 RB.B 6204 24

11 V704-140-020-0 CH AN D) 20 24
12 0354-310-021-1 FAMIN=(NTV/16) 24



3. ETTRZRED2)

7E Hama—k B s B B & /NSEE i
1 0339-324-300-0 :28 T4+7AYM(600B)COMP 2
2 0339-321-200-1 Y ey LM240)COMP 2
3 V300-260-016-0 FYk M16 2
4 0339-320-011-1 :28 F7ANIBE—7(HG) 2
5 0346-330-012-2 74MLA=-F9%7k 2
6 0330-203-003-0 :28 &' Uhj— 4
7 V600-150-620-4 RB.B 6204DDU 4
8 V705-140-047-0 CH' 4T T) 47 4
9 V410-260-016-0 Y ) S 16 8
10 V411-260-014-0 IED WIS 14 4
11 V401-160-014-0 SW 14 4
12 V300-260-014-0 Fyk M14 4

_14_



3. ETTREARE?DI)

75 Hma—Fk B am s R B {i& INSEE
1 0339-335-230-0:28 L—/L(II/600)COMP 2
2 0339-335-240-0 :28 L—JW(+#/600)COMP 2
3 0339-335-250-0 :28 L—JW(7}/600)COMP 2
4 V200-261-213-5 Kb M12X135 12
5 V411-260-012-0 LR 12 12
6 V360-260-012-0 UL VEST] 192 M12 12
7 0339-356-011-0 H0—5(130X60X59) 2

-15-



4. T - mEBZR(E D 1)(XGH600B)
75 Hama—k BB fm A {E % g % INFEEL

1 0339-414-200-3 IvY'YGB131 1

2 0339-414-210-0 H—2HIL4"(600)COMP 1

3 V211-360-802-0 N4 WMSP) M8X20 1

4 0339-414-011-0 MLYT4775(130E) 1

5 0339-414-012-0 f—2(315) 1

6 0384-111-012-0 F—AN YN 2

7 0774-110-013-0 779V K WMM8X12) M8X12 1

8 0774-110-043-0 Y=Y Y%(8X17) 1

9 0339-414-013-0 h ATy L) 1 IVY VREIRER S

_16_



4.

T2 rERER(Z D 2)(XGH600EB)

fTE Hma—Fk BB Fh Ik g & /NFE Bl
1 0339-415-200-3 IYY°VGB131(tIL) 1

2 0339-414-210-0 k—RFI4'(600)COMP 1

3 V211-360-802-0 N4 ILMNSP) M8X20 1

4 0339-414-011-0 NLYT4 7°4(130E) 1

5 0339-414-012-0 fi—A(315) 1

6 0384-111-012-0 F—ANUF 2

7 0774-110-013-0 770V K WMM8X12) M8X12 1

8 0774-110-043-0 Y=I7yYr(8X17) 1

9 0339-414-013-0 N AN LY) 1 IVYVREIRER &

_17_



4. T REBEREDI)
fTE Hma—k BB fn £ Bk i /NS B
1 0339-430-200-0:28 IV 'YA'—274(600)COMP 1
2 V411-260-008-0 IWEYH 2 8 4
3 V401-160-008-0 SW 8 4
4 V304-260-008-0 B ] 291 M8 4
5 V211-261-002-0 ) T ANES)) M10X20 4
6 0339-430-210-0:28 Iy YA—A(GB)COMP 1
7 V211-360-802-0 04K IWMSP) M8X20 4
8 0339-440-200-0:32 Vv751N'17°A7—(GB)COMP 1
9 V211-361-002-0 04K IWMSP) M10X20 2
10 0339-440-210-0 :32 v75/\°17°(GB)COMP 1
11 V210-160-802-0  Ih'4iK"ILMP) M8X20 2
12 V363-260-008-0 IR AT 2YEFYE 291 M8 2

_18_



4.

T2 B R(ZD4)(XGH600EB)

qE Hama—F BB R Fh B %k B & /NFEEA
1 0339-452-200-0:28 N'yTY)5r—ACOMP 1

2 0339-452-210-0:28 N'yT)5r—AMYrBCOMP 1

3 0455-434-014-0 1 L(3X25X170) 2

4 V211-361-002-5 a0 4R IWMSP) M10X25 4

5 0453-454-011-1 NYT34ACY) 34A19R 1

6 0339-452-011-0 :28 N'yT')44I(600E) 1

7 V211-360-801-6 204 WMSP) M8X16 2

8 0550-611-220-0 JL—(ACA1214)SET 1

9 0339-452-012-0 CTH Wb 1 IVY VRIEER S
10 0384-420-011-1 TRty 1

11 0313-430-014-0 7Rty 1

12 3536-142-006-1 I4X-tb Ty 1

13 0382-413-012-0 LEab—4 1 IVY VRIEER S

_19_



4. T nERFR(EDD)
5
6
&
a
75 Eegma—k R a4 R JIEE g % /N5 B
1 0339-515-200-0 :28 EA'JLFAMA(YI)COMP 1
2 0339-515-210-1:28 EA'JLFAMIN(V4)COMP 1
3 V211-360-801-6 T AN ES =) M8X16 2
4 0339-515-011-0 :28 E7°—!J(XGH600) 1
5 0339-515-021-0 HhH 2YE5R WMM8X16) 1 IVYVEIRER &
6 0339-515-022-0 1J47(26) 1 IV VEIRER &
7 0339-515-023-0 £—(h45X35) 1 IVY VEIREER &
8 V817-200-031-0 VA LR SB-31LYN 1
9 0353-510-013-0 19~ JLMSB31HP4) 1

_20_



4. IO -ERARE D)

s H@ma—F BB Em A 1 =R B % IN5E B
1 0339-524-200-0 :28 TY¥3v7—L(600H)COMP 1
2 0339-524-210-0 :28 TY¥3v7—L(600L)COMP 1
3 4173-301-005-0 19Fra07° %1 4
4 8935-004-026-0 bVZSIVEVIED! 2
5 V704-140-015-0 CH' 4k A9 ) 15 2
6 0375-623-016-0 73N -YTUEY 1
7 V411-260-012-0 IES IR 12 1
8 1305-241-001-0 FNIAVAT-EY 1
9 8935-004-048-0 hn'-Sp 2

-21-



4. OO -RBRAKREDT)

BN
N2

75 Hama—k A B2 g & /NFE B
1 0339-533-011-0:28 M7'—!)(XGH600) 1
2 8935-013-015-0 VYRIVYES 1
3 8935-001-062-0 M h % 1
4 V401-160-010-0 SW 10 1
5 V300-260-010-0 F9b M10 1
6 0339-533-200-0:28 MA'JLFRMYA(IH)COMP 1
7 0339-533-210-0 :28 MA'LFARYA (F4)COMP 1
8 V211-360-802-5 T NG =) M8X25 2

-292—



4,

I

~

WAAVA

IZERFER(ZDS)

5
7E Hma—Fk ER a4 R B 5 & /NFEE
1 0339-554-200-0 :28 KM A714°(600)COMP 1
2 0337-120-012-1 E°v(10X69) 1
3 V411-260-010-0 EL W 10 1
4 V500-162-501-5 ey 2.5X15 1
5 0339-554-210-0 :28 A34%—(#1JL)COMP 1
6 0339-554-013-0 H7—(30) 1
7 V201-360-806-0 AN M8X60(t'v4y" 1 71T
8 V411-260-008-0 IES Y 8 1
9 1122-725-012-0 Utyhm8) 1
10 0339-554-011-1:28 A314 Abyn(600) 1
11 0339-554-012-0 AT AMNT L 1
12 V200-260-601-0 AN M6X10 2
13 V401-160-006-0 SW 6 2
14 3789-151-006-0 =DV 2

-23-



4. T -EEERE D)

110 . 6
e

ZES5lIlc—IVE

SHB20(E. V- LDOREFIZEE,
>HEE211E. FB22~24%ET,

-24-

1 N\,
8 16 45
15
( 4
3
17 NS 17
<
167 R 11
~,
14 "r ! T\\ L\L
19 |17 T
I
%7 12 T\ . 12
11
Niikis
4
\ 3
%\ *ag | LM
16 17
o
16 ﬁ
0\17
18
B0 i
75 B ama—F B A E %k g & /NFE B il
1 0339-562-200-1 :28 RY+7FCOMP 1
2 V600-150-620-6 RB.B 6206DDU 1
3 V600-130-620-6 RB.B 620622 3
4 V705-140-062-0 CHAMITT) 62 3
5 V767-400-000-0 BYRZYT I A-M6F 3
6 0339-562-011-0 HANY%TNL195) 2
7 0339-562-018-0 DA G P A2 ]| 2
8 0339-562-012-0 7L—Lik A(600)h7— 2 ~12705#4
9 0339-562-013-0:28 R7°BryM60X11) 2
10 0339-562-016-0 H5—(38X28X4) 4
11 V704-140-028-0 CH 4 Y) 28 4
12 0339-561-013-0 F1(60X34) 2
13 0339-562-014-0 :28 A7°AryM60X15) 2
14 0339-562-210-0:28 F1vTVY3v600(L)COMP 2
15 0339-562-220-0 :28 F1vyTY3v600(R)ICOMP 2
16 0339-562-017-0 Hh7—(9X14X86) 4
17 3731-551-008-0 Y- h % 8
18 V211-260-802-5 AN ARIVNES) M8X25 4
19 3902-240-003-0 A7) (HE085) 2
20 V600-140-620-6 RB.B 6206DU 2
21 0339-562-250-0 =LK ANF—-SET 2 12715~
22 0339-562-251-0 FL—LiK ANF— 2 1271154~
23 0339-562-252-0 KOV VAN = R) 2 12715~
24 V706-140-040-0 Y SCYAVIAV) 40 2 1271154~



5. 12 4ERE{R(F D 1)(XGH600B)

7= Hma—k R a2 R EE B = INFEEL
1 0339-659-200-4 :30 AYFIL(600)COMP 1
2 V211-361-002-5 IN 4R IWMSP) M10X25 4
3 2100-410-007-2 FIAYNT-LAMN 2
4 0339-660-230-2 939Fh 4N COMP 1
5 4204-532-011-0 F7RA3%Y(M6X12) M6X12 4
6 0339-659-350-0 H79F ¥ AT-COMP 1
7 0354-422-230-0 J3YPALYFCOMP 1
8 V111-153-002-0 73RN IRY M3X20 2
9 V401-150-003-0 SW 3 2
10 V411-250-003-0 L WIEd 3 2
11 3642-496-007-1 AyFhA4 1
12 1122-455-220-0 MYR{YFASSY 1
13 0339-659-019-0 A4Y3—F(XGHB600)ASSY 1
14 3536-142-006-1 D4Y-bAnty 1

_25_



5. £ /ERR1R(F D 2)(XGHG600EB)

7= Hma—k BB fm A I B = INSEE
1 0339-659-200-4 :30 NYFIL(600)COMP 1

2 V211-361-002-5 N 4K IWMSP) M10X25 4

3 2100-410-007-2 FIAP)T—LAMIN 2

4 0339-660-230-2 939Fh’ 41+ COMP 1

5 4204-532-011-0 FFRIRY(MEX12) M6X12 6

6 0339-659-350-0:30 %3yFtYH#AT—COMP 1

7 0383-422-210-1 H'IALR19FASSY 1

8 V111-153-002-0 72N IRy M3X20 2

9 V401-150-003-0 SW 3 2

10 V411-250-003-0 IELWIEd 3 2

11 3642-496-007-1 A9FhA4 1

12 0339-659-012-0 :30 A{vFAT—(600E) 1

13 0337-417-210-0 MYR{YFASSY 1

14 0771-620-019-0 JE*—F44(90) 1

15 0337-417-012-0 Ayt’ury” M4X16 2 13D EEER R
16 0382-413-200-0 AMa-F(301ME)ASSY 1

17 3536-142-006-1 D4Y-bAnty 3

_26_



5. RIEER(ZDI)

7E Ema—k B e R 1B %k B & /NSE EE i
1 0339-659-240-0 :30 7'L—%7—L(600)COMP 1
2 0339-659-018-0 =7 (7’ L—%600) 1
3 V500-162-501-5 ey 2.5X15 1
4 0343-625-012-0 A7°v9’(HEO85) 1
5 3536-142-006-1 D4Y-bAnty 1
6 1122-423-220-0 AOYRLLN —(22)ASSY 1
7 0323-640-011-0 =7 W(RRYML) 1
8 4194-270-024-0 5391V (9) 1

_27_



5. BIERR(EZE DY)

7= Hma—k @A Bz B & INFEEL
1 0339-659-260-0 :30 %59F7—AL(600R)COMP 1
2 0339-659-250-2 :30 #%79F7—L(600L)COMP 1
3 0339-659-340-0 %3yF0y+ (600)COMP 2
4 0342-623-012-0 H39F0YR I L—F 2
5 V304-260-010-0 an stk 291 M10 4
6 V410-260-010-0 N H £ 10 2
7 8935-009-013-0 04X 79HAIAT-E"Y 2
8 0339-659-013-0 A7v) (HEBS) 2
9 4210-260-012-0 IVN %y 7°4(TH) 4
10 0339-659-270-0 :30 TUY3avbin'—YTY600COMP 1
11 0339-660-014-1 539FLN—(LF) 1
12 3517-105-004-0 Lin-=%") 1
13 0339-659-014-0 A7YUY(HT21) 1
14 V411-260-010-0 L WIEd 10 1
15 V500-162-502-0 ey 2.5X20 1
16 0339-623-230-1:30 TyhvUYTY7L—FCOMP 1
17 0339-659-017-0 E"(12X180) 1
18 V500-163-002-5 ey 3X25 2

_28_



5. BAERR(Z D5)

4
3
\\\ //
F B N

2
f"E Hma—k BB fn £ Bk i /NS B
1 0339-659-370-0 TN YunUM IL600ASSY 1
2 0339-659-360-0 79N vY7—L600COMP 1
3 V411-260-012-0 ELWIEd 12 2
4 V500-163-002-5 ey 3X25 2
5 0339-659-280-1:45 T'yhIUnUMIL600COMP 1
6 8935-004-051-0 An'-SP(L) 1
7 1305-241-001-0 HANAYAT-EY 1
8 V411-260-010-0 MR N2 10 2
9 V500-162-502-0 ey 2.5X20 1
10 0339-659-290-0 :45 T'ykvYyn'{7°COMP 1
11 0339-659-021-0 $v97°(19X16) 2
12 V210-160-802-0 ) T AN (=) M8X20 4
13 V362-260-008-0 IN I RYEFYR 11 M8 4

SHEHEE, S5 10~13%2 5L,

_29_



5. BIERZR(Z D6)

s H&ma—F R =k iE % /N5E B
1 0339-659-300-0 :30 S%#3%FLn"—(600L)YCOMP 1

2 0339-659-320-0 :30 S%7yFLn"—(600R)COMP 1

3 V200-460-603-5 Kb M6X35 1 9T
4 V300-460-006-0 FYk M6 2 7T
5 0366-252-012-1 g7 2

6 0339-659-011-0 =7 W4+ H79F600) 2

7 8935-009-013-0 VERPVVELLN S, 2

8 3536-111-008-0 RN AR A 2

9 4194-270-024-0 79I (9) 1

10 V210-360-601-2 K ILNSP) M6X12 1

—_
—_

0339-659-016-0 £ (16X238)

_30_

—_



5. RIEER(ZDT)

7E B ama—k B e R B B & /NSE EE i
1 0339-659-330-0:30 ¥7kLn"—(600)COMP 1
2 0670-761-011-1 LN =Z£")(5")-Y) 1
3 0671-130-014-0 Y98 =W (M8) 2
4 0339-659-015-0 N1 1
5 V302-260-008-0 FYk 391 M8 2
6 V362-260-008-0 BTN RYETFYE 11 M8 2

_31_



5. BIERR(Z DS)

FE Hama—k ERam R &% g % /NFEEE i
1 0339-663-210-0:30 7AYM/F4H79F(R)ICOMP 2
2 0770-510-013-0 A77Y4 (HE050) 2
3 0366-252-012-1 797 2
4 0339-662-012-0 F—=7 W(782+S959F600) 2
5 0451-612-022-0 Ev(8X25) 2
6 V411-260-008-0 L WIEd 8 2
7 8935-009-013-0 D4%79939AT7-t"Y 4

_32_



5. BIERR(ZDI)

75 Hama—k B s Bz B = /NSEEE i
1 0339-662-200-0 :30 7AYMFYF(L)COMP 1
2 2101-230-001-0 %7 1
3 8935-004-048-0 hn'-SP 1
4 0339-662-014-0 70008797090 (R) 1
5 0770-510-013-0 A7v9°(HE050) 1
6 0339-662-011-0 =7" 1,39 1600) 1
7 8935-009-013-0 D4%79939AT7-tY 2
8 3536-142-006-1 D4x-brhty 2
9 0339-662-210-1:45 F459FLUrYLCOMP 1
10 0339-662-015-0 Ev(12X211) 1
11 V410-260-012-0 Ry KT 12 3
12 V500-163-002-5 ey 3X25 2

_33_



5. R1EER(ZD10)

-

2
ﬁm}i
! 5

w

A

7E Eema—k 2B a4 1B %k B & /NSE B i
1 0339-662-230-0 :30 7AYM7YF(R)COMP 1
2 8935-004-048-0 An'-SP 1
3 2101-230-001-0 %7 1
4 0339-662-220-1 F539FLurYRCOMP 1
5 V410-260-012-0 IR 12 2
6 V500-163-002-5 ey 3X25 1
7 0339-662-013-0 =7 MF 9k 3Y) 1
8 0661-251-014-0 UERA DN 1
9 3789-151-006-0 2= V) 2
10 8935-009-013-0 D4%79939AT7-t"Y 2
11 3536-142-006-1 D4¥-baty 3
12 0331-250-013-0 AMYN—H22 1
13 V201-260-803-0 ) 1A M8X30 1
14 V411-260-008-0 ELWIEd 8 1
15 1122-725-012-0 UFyhMm8) 1

_34_



5. IREBFZR(ED11)

/N5 B ff

& &

{E %%

D i B FF

"—(600/L)
(600/R)

0:08 Frvhn
-0:08 Frvhn

666-013—
666-014
-210

1 0339
2 0339
3 4301

B LARR IWI6X16(ATHY)

002-0

-35-



5. {21ERER(ZED12)

-36—

qE BB —F R =k B % /N5E B il
1 0339-666-200-0 :08 EhN'—7I(600)COMP 1
2 V211-361-002-5 N 4K IWMSP) M10X25 2
3 0339-666-210-1:08 EHhn'—(600)COMP 1
4 0339-666-012-0 F7224°(M8X40) 1
5 V304-260-008-0 iy 5] 2%1 M8 1
6 4201-220-019-0 Y+ 77 (M8X20) 1
7 0672-795-022-0 +yv77(22.2X1.6) 1
8 0339-666-011-0 $1915 Fhin - 1
9 0455-620-012-0 A"k 2



5. #=1ERZR(ED13)

qE EHma—F A Bz 5 & /N5T B
1 0339-667-011-1 NN LTy M600) 1

2 V200-460-603-5 Kb M6X35 1 9T
3 V300-460-006-0 FIb M6 2 7T
4 0339-667-012-0 )=k nUhIL(600) 1

5 0661-251-023-0 NN VR = 1

6 V111-168-005-0 7 IAFAIRY M8X50 1

7 V304-260-008-0 I 4Tk 291 M8 2

8 3731-551-008-0 Fy-AHI¥hs 1

9 V401-160-008-0 SW 8 1

10 4201-220-019-0 Y+ 7° (M8X20) 1

11 0339-628-210-1:08 )=} 994770 COMP 1

12 V201-260-802-0 my T WA M8X20 4

13 V411-260-008-0 IESWIES 8 4

14 V362-260-008-0 AN BYIN RYFFYE 171 M8 4

15 0339-560-014-0 DU7"2(16X18X10) 2

16 1106-220-014-1 7999 (15X27X2) 2

17 0339-656-011-0 )="9(57h) 1

18 0339-628-012-0 )=FFyb 1

19 V200-440-601-6 A M6X16 4 9T
20 V401-160-006-0 SW 6 4

21 0339-628-202-0 N7 (15X25X20) 1

22 V580-140-602-5 ATV E (W) 6X25 1

23 3536-111-008-0 RITR AR $ 1

24 0339-667-013-0:08 !)—Fy'9hn'— 1

25 4204-532-011-0 F7A3%2Y(M6X12) M6X12 2

_37_



6. SNJLEER1/2

75 Eegma—k R a4 R = g & /|NFE Bl
1 0339-930-025-0 FALAYYY 1
2 0339-930-026-0 INWTAYY 1
3 0339-930-013-0 INIERT) 1
4 0339-930-014-0 INNIF 1
5 0339-930-023-0 FAVFIVY(600)37) 1
6 0339-930-024-0 FNWFIVY(600)T4 1
7 0339-930-028-3 IN ATV R(600) 1
8 0351-910-013-0 7ot U4 1
9 0439-910-013-0 441145 Y3-9(600) 1
10 0339-910-013-0 V1N 2] 1
11 0339-930-033-0 =9 YR) 2
12 0339-930-027-0 IV UM IT=) 1
13 0339-930-029-0 v=9(7890S979F) 1
14 0339-930-031-0 T=9(R1979F) 2
15 0339-930-032-0 =@V UhTY) 1
16 0339-931-017-0 v2v-%(600) 1
17 0339-931-018-0 A IW(ETIL600) 1
18 0338-910-013-0 A9 1
19 0337-910-015-0 TTVIAY=H(RI4b) 2
20 0453-910-021-0 INWEry/nh4) 1

_38_



6. SNJLERR2/2

1INTE B fff

B =

[E 4

{

L0

B

I
=]

11111
n

NN

I ’ A
I~ Y
X~ i
w.u_u._lu/w/ﬂ
SRl

DN

H O S DN
R ESESI S
AN RN aEENE
B2~~~ M A
RS ESRLERL
Al
bbbbb
““““““““““
< < € < <
IS I s s
2TPRT
™ oo I~ —
— N ™ N N
25388
L OO oo
—_—— = - &
?3%%%
D MO M~
N WA ®
Dt O ™
O O O oo
— N MW
NANANNN

1 m

om w

o O

o O

© ©

I T

[ON&)

X X
™ N —
o« )
NS
£53
SIS
o=
Jl_//l
=\t
N
»\lb:_._//»\lb:
< <
N < I
299
™» — O
— — N
288
™ O O
™» ©
25
D 0 ™
™» — O
™» N <
o < O
© I~ 0
N NN

_39_



1. 4w mBE &R

3

5
4
qE Ema—Fk R a4 R Ik B = /NFEE
1 0339-943-015-5 M)7Yh4 £ A 3(600) 1
2 0360-302-004-0 FYI0-7Y RV LR 1
3 V767-400-000-0 TNAZYT W A-M6F 1
4 0312-940-012-0 y'3-a 1
5 0771-960-011-0 CEDVAGIEIY 1
6 0772-950-015-3 F3A7AhYZuEITVE) 1

_40_



8. T—ERBRENT) FAHFELM

7E Hma—k BB Fh Ik {i& /NFEE il
1 0337-110-051-1 TL—EnvEy 1 P5 B8

2 0337-110-500-1 7 L—%(62)ASSY 1 P5 B

3 0339-335-230-0:28 L—JL(¥I/600)COMP 2 P15 &

4 0339-335-240-0 :28 L—J(+1/600)COMP 2 P15 &

5 0339-335-250-0 :28 L—JW(7}/600)COMP 2 P15 B8

6 0339-356-011-0 4A—-7(130X60X59) 2 P15 BB

7 0453-454-011-1 INYT34ACY) 34A19R 1 P195HEXGH600EBE
8 V817-200-031-0 VA'ILE SB-31LYL 1 P20 318

9 0353-510-013-0 19~ WNSB31HP4) 1 P20 388

10 0339-561-013-0 F1(60X34) 2 P24 B

11 0339-659-018-0 =7 (7' L—%600) 1 P27 B8

12 0323-640-011-0 =7 W (AOYRL) 1 P27 38

13 0339-659-011-0 =7 W(H#4F979F600) 2 P30 B8R

14 0339-662-012-0 =7 W (782+S979F600) 2 P32 B8R

15 0339-662-011-0 F=7"1,()937v1600) 1 P33 58

16 0339-662-013-0 =7 T 9 IY) 1 P34 318

_41_



8. Y—EXBER(EMD2) A7 L-FH

2 3
27 - (RE45) A7 b= (54Mb-) A7 b= (R=n" =Ly ")
7E E@ma—F BB e &% g % /NFEE i
1 1300-977-002-0 AT L-(BE4E) 1 Ef4E
2 1300-974-005-0 A7L=GAML-) 1 74ML-
3 1300-973-001-0 A7 L—(A=n"=Lyb)

1 A=n"—=Lyk

_42_



=Z1vY'Y:GB130LN-275

IRENEIEI =y ) I( VR EN )
ThH59FH
Q@@ mAu._.Qd\ﬂ.A:_
= 0.85 H
1 <t
- = | 085 B 085 B _ H
2L Joss ile MBREAMIFUIIAT)
. T Og— 085 &% 085 2 B <
7745 085 RH__RH 3
L mw 085 & 085 2 =& F_M| BRI R 1vT
AN=97°57
A BP4HS

8. Y—EXBR(FM3) E#EE XGH600B




A7 - E N R YT

Gy PR

8. H—EXB&R(ZFM4) EC#EEX XGH600EB

N1 ON
— R ISTART| O—TO
=zZ=GB1301L)y v 1ol
K B | e
| o o
== vy 2|3
10A S
# |, 085 F 285 7
<t \
£ 1,085 25 BTS2 {F
r;m g C1-R20A (LN ESENF)
25
h ¥ i L ||
085 £ 979F -
g ¥ (e TR
a
— &
£ | |
AN=) )
739 A4—F
Wm_ﬁ_._m
. |
N7 -
(12V-24AH)
34A19R

_44_



| -

B R X Jh

H

okk

B H € Pr

ol E 3

oM E AT

wmoh e v X —

ENSZRBEL. REAHET S

7 SnC = A all [

FpEmumAL 1 TH2 -5
T E L (089)924-7161 (fX)
T E L (089)924-7162 (% ¥4 1)
ATREERIG OHE2E 1 — 1 4
T E L (0198)29-6322 (fX)
RIR RS B AR AR HT e 284G 6 6 3 3
T E L (0280)84-4231 (fX)
I B KIETAS S5 THL 28
T E L (0584)89-8141 (fX)
FRBEMILTAILLITH2 -5
T E L (089)924-7162 ({X)
REAR g AR SG B BT KRR K 1 1566 —1 7
T E L (096)292-3076 (fX)
FIR BRI TR AT 8 9 9 — 6
T E L (089)979-5910 (fX)

T 791-8524

F A X (089)925-0771

T 025-0301

F A X (0198)29-6323

T 306-0313

F A X (0280)84-4233

T 503-0931

F A X (0584)89-8155

T 791-8524

F A X (089)925-0771

T 869-1102

F A X (096)292-3423

T 799-2655

F A X (089)979-5950



	◎表紙001
	◎目次001
	◎目次002
	001
	002
	003
	004
	005
	006
	007
	008
	009
	010
	011
	012
	013
	014
	015
	016
	017
	018
	019
	020
	021
	022
	023
	024(2018.12更新)
	025
	026
	027
	028 [2021.11更新]
	029
	030
	031
	032
	033
	034
	035
	036
	037
	038
	039
	040
	041
	042
	043
	044
	裏表紙001

